YEAR 8 TEST

SECTION A ; Number (10 Marks) Name;

Teachex:

Sylvia wrote a cheque for “fwo hundred and ten thousand dollars”
for her favourite charity group. Write this number for this clieque.

On a bus there are 25 primary school students and 21 high school students.

How many students are there in fotal on this bus ?

At Oakhill College there are 1 515 students.
On Monday, there were 171 students absent from school.
How many students were présent on Monday at Oakhill College ?

Luke paid $225 for 25 footballs for his football club.
What is the cost per football ?

‘Fimathy saves $12 each week.
How much money woukd he save in a year (52 weeks) ?

A country town has a population of 7 890.
If the population decreases by 1 974, find the new population.

(1m)

(1m)

(1m)

{1n)

(1m)

(1m)

Section A Confinned

7.

Six friends have four sandwiches to share.

oo

(A) How would they cut sandwich, so that each person receives the same amount 7 {Im)

(B) How much will each friend get ? : (Im)

Tony buys a dozen boxes of cans for a birthday paty. Each box has 25 cans of drink.
How many cans of drink does Tony have for the party ? (2m}

END OF SECTION A




STCTION B ; Decimals (10 Marks) Name:

Teacher:

L. Jackie buys $24.78 worth of petrol, If she pays in cash, what amount does she pay 7 (I1m})

2. At the school Athletics Camnival, Peter jumped 4.76 metres in the long jump event.

If David jumped 1.34 metres less than Peter in this even, find how far David

long jurap event ?

3. Andrew buys four drinks at $1.10 each and three hamburgers at $3.25 each.

(A) How much does the drinks and the hamburgers cost intotal 7

(B) How much change will he receive from $20°7

4. Harry makes a mobile phone call to Daniel at 9.40 pm.
The mobile phone call finishes at 9:50 pm

Cost of Mobile Phone calls for 30 seconds
Day Rate 50 cents Night Rate 38 cents

Use the above table, to answer the following questions.

(A) How many minutes was Harry’s mobile phone call to Daniel 7

(B) Find the cost of this mobile call.

jumped in the
(1m})

(1m)

{lm)

(_lm)

(lm)

5.

6.

Section B Continued

A e

Joanna has an annual salary of $28455.60. Find her monthly wage. (2m)

A tropical palm tree is growing at a rate of 1.25 cm a month.
At the beginning of the year the tropical palm tree was 1.4 metres in height.
How high was the fropical pahn tree at the end of the year ? (2m)

END OF SECTION B




SILCTION C : Shapes and Solids (10 Marks) Name:

5.

Teacher:

The following sign is found on the Md Motorway.

Name this geometric shape.

How many cubes dogs it take to build this solid?

The solid below is a wooden door wedge.

Namie this geometric solid.

The following sign is found on a bathreom door.
How many axis of synunetry has this sign 7

Katherine designs a box using the following net.

(A) What type of solid is the box ?

(B) Draw a different nei for this solid.

(Im)

(im)

(1m)

(1 m)'

(1m)

{1m)

Section C Continued

6. Victor has built a shed for his gardening equipment, as shown below.
(A) What two solid form togeiher to make this shed ? (1m})
(B) How many vertices does this shed have 7 (Im}

7. “The solid shown is a fiustrum. Thisisa pyramid with the top cul off.

(A) Name two different shapes {hat are used as faces in this sotid. (1my)

(B) Draw the net of this solid. (lin)

END OF SECTION C




SECTION D Measurement / Algebra (10 Marks) Name:

Teacher:

1. Using a ruler, measure the distance fromXto Y.
Give your answer in millimeires. -

X Y

2. Tiona walks 1.2 Yan to school each day.
How many metres is this distance ?

3. Jim is 5 em taller than Nick. Nick is 6 cm shorier than William.
If William is 176 em tall, how tall is Jim ?

4. What reading is given in the ruler shown below 7

90 HEA LA B VRN R B

5. A yacht race consists of three logs. Each leg is 5 km in length.

(A) What type of triangle is formed by completing the three legs of this yacht race ?

(B) What is the total distance traveled in this yacht race ?

(1m})

(1m)

(1m)

(1m)

(b}

(lm)

Section ) Continued

6.

A triathlon consists of a 500 metre swim, a 30 kilometre bike and a 750 metre run.
What is the total distance traveled in kilometres ? (1m)

The diagrams below show a pattern of fence designs, using wooden pales.

B M i

Fence 1 Fence 2 Fence 3

(A) Complete the following table. (im}
3 4
13

(B) Write down an algebraic rule for the table above. (Im}

[ Tence (F) 1

I Pales (P) 5

R=]1 b

(C) Jill needs to use Fence 50 for her back fence, .
How many wooden pales does she need ? (tm)

END OF SECTION D

T N =




SECTION E Problem Solving (10 Marks) Name;

Teacher; m_EQ_qm_ﬁmy_d_

i i i ; i i utive numbers is 138. @m
i, Damien hangs the washing out on the linc for his mother. 5. Find the numbers, when the sum of four consecutive number )
He has only 6 pegs to use and 5 towels io dry.
Each towel needs two pegs fo secure it to the line,
Draw a picture of how Damien hangs out the 5 towels. (Im)
6. An obstacle course requires Danny to crawl through one of four tunnels,
climb one of three ladders to get overa wall and climb through one of fwo hoops.
How many different paths can Danny choose lo complete the obstacle course 7 2m)

2. On a jogging irack, the flags are 50 metres apari.
John stars at flag A. He jogs to each flag once and then walks back to flag A each time.

Py PP

How many metres did John jog altogeiher 7 (2m)
3. A bacterial culture doubles its volume every half an hour.
At 8§ pm the coniainer is full. When was the container half full ? (lim)
4, If a drink and a sandwich together cost $5, and the sandwich cost 60 cents more
than the drink, how much does the drink cost ? (2m) END OF SECTIONE

END OF ASSESSMENT TASK




YEAR 8 TEST

3.

Teacher:

/
‘ Y6 ) Eeet S, werlt
SECTION A : Number (10 Marks) L Nl b or By
A

Sylvia wrote a cheque for “two hubdredand ten thousand doliars”
for her favourite charity group. Write this number for this cheque.

stcgmg/

On a bus there are 23 primary scheol students and 21 high schoo! students.

How many students are there in total on this bus ?
25 +3} :
=15,

At Oakhill Coltege there are 1 515 students.

On Monday, there were 171 students absent from school,

How many students were preseni on Monday at Oakhill College ?
i515—=17 '
3wt/

Luke paid $225 for 25 footballs for his foctball club.
What is the cost per football ?

$125 I

= -£cl

Timothy saves $12 each week.
How much money would he save in a year (52 weeks) 7

3i2 X5

:‘J“G;_q./

A country town has a population of 7 890,

Tf the poputation decreases by 1 974, find the new population.
7840 -1q 7%

=8415

(im)

(Im)

(lm)

(1m)

(im)

(Im)

el

7.

8.

(&) How would they cut sandwich, so that each person reccives the same amount 7

of cans for a birthday party. Bach box has 25 cans of drink.
does Tony have for the party ?

ection A Continued
Six friends have four sandwiches to share.
Tordo bhieds,
(8) How much will each friend get 7
B
Tony buys a dozen boxes
How many cans of drink
1o X255
v—-“"g____m

END OF SECTION A

(im)

(im)

(2m)

S’



SECTION B : Decimals (10 Marks) Name:

Teacher:
. Jackic b T irol, Tf sh i h, wi d
1 ackie buys $24.78 worth of petrol, If she pays in cash, W at amount does she pay 7 (lm) ) ' Section B Continued
3 ERRE el / N
5. Joanna has an annual salary of $78455.60. Find her monthly wage. (2m)
‘ 23uss.80
2. At the school Athlstics Camival, Peter jumped 4.7 & metres in the long jump event. iz = §aB87i %’/ -

If David jumped 1.34 metres jess than Peter in this event, find how far David jumped in the

long jump event 7 {1m)
3 76 139y
=j_,,‘g'=::1:/

1. Andrew buys four drinks at $1.10 each and three hamburgers at $3.25 each.
* (A) How much does the drinks and the hamburgers cost intotal ? (1m) 5 A tropical palni tree s growing at a rate o £1.25 cm a month
FYio +9g-7% ) At the beginning of the year the tropical palim tree was 1.4 metres in height.
e 1T L) -  How high was the tropical palm tree at the end of the year 7 ’ 2m
ot : (2m)
1728 2in
; = i5eea
{B) How much change will he receive from 5207 ) (lm) WW =155 /

$20-CG -3 )5

:ﬁm l@
t— o

4, Harry makes a mobile phone call to Daniel at 9.40 pm.,
The mobile phone call finishes at 9:50 pm :

__) Clost of Mobile Phone calls for 30 seconds
Day Rate 50 cenis Night Rate 38 cents

Use the above table, to answer the following questions. END OF SECTION B

(A) How many minutes was Harry’s mobile phone call to Daniel ? ) (lm)
| Grsirastas /

(B) Find the cost of this mobile call. (tm)

wrto - per<ag
= 75

24750 /
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SECTION C : Shapes and Solids (10 Marks) Name:
: Teacher: A Section C Continued
L. The following sign is found on the M4 Motorway. 6. Victor has built a shed for his gardening equipment, as shown below.
Name this geometric shape. (1m)
hawoqerns
2. How many cubes does it take to build this solid? {(im)
./
3, The solid below is a wooden door we dge. (A) What two solid form togesher to make this ghed ? (Im)
Name this geometric solid. (lm) - reckorgulos prison.
: S A
) R oA gedel s
. - (B) How many vertites does this shed have ? . (1m)
‘}Zr-q'_a.r\g‘ e ppaausen
o~ /
4. The following sign is found on a bathroom door. : : 7. The sofid shown is a frustrum. This is a pyramid with the top cut off. i
How many axis of symmetry has this sign ? (1) . ] . ‘
(A) Name two different hapes that are used as faces in this solid. (1m)
- -&ap@‘zimﬁ
R aied
(B) Draw the net of this solid. {1m)
3 Katherine designs a box using {he following net. : /
. (A) What type of solid is the box 7 (tm}
b rechoagelos P
IP___} (B) Draw a different net for this solid. (1m}
j | |
. . g END OF SECTION C
‘ /1 o




SECTIOND Moasurement / Algebra {10 Marks)

i. Using a ruler, measure the distance from XtoY.
Give your answer in millimetres.

QOroar—
Y

e

2. Fiona walks 1.2 km to school each day-
How many metres is this distance ?

120G r

3, Jim is 5 cm taller than Nick, Nick is 6 cm shorter than William.
If William is 176 cm tall, how tall is Jim ?
o Nick =] 70
Trhens 1756

Name:

Teacher:

4. What reading is given in the ruler shown below ?
e S 2t 2 s o L O L LA
0em 1 o~ i ‘ 11 em. | l 1 12 em
11750 \/

LN A yacht race consists of three legs. Each leg is 3 tm in length.

(A) What type of triangle is formed by completing the three Tegs of this yacht race ?

aqpuolokerel %»Lc?@m_.

(B) What is the total distance traveled in this yacht race ?

lﬁkm\/

{im)

(1m)

(1m)

(lm)

(1)

(1m)

Section D Continued

6.

T

What is the total distance traveled in kilometres 7
Epyti-08
S8hag ke

The diagrams below show a pattern of fence designs, using wooden pales,

M M R

Fence 1 Fence 2 Fenco 3

(B) Write down an algebraic rule for the table above.
Pz FXu+r = 4xX+4 o0 4f i

(C) JiHl needs to use Fence 50 for her back fence.
How many wooden pales does she need 7

7 @"qu)ﬂ = ﬂﬂ\l/

END OF SECTION D

LN AIL O

A iriathlon consists of a 500 metre swim, a 50 kilometre bike and a 750 metre run.

(lm)

(im)

(tm)
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SECTION E Problem Solving (10 Marks) Name;

Teacher:

Damten hangs the washing out on the line for his mother.
He has only 6 pegs to use and 5 towels to dry.

Fach towel needs two pegs to secure it to the line.

Draw a picture of how Damien hangs out the 5 towels.

o S e YOO s N s M . B ot

R R S A S

Y oveft'af\’ (h'ﬂ) ol
1;;(2 T ragfe

i

On a jogging track, the flags are 50 metres aparf,
Johm starts at flag A. He jogs to each flag once and then walks back to flag A each time.

1049

S P

How many metres did Jolm jog aliogether 7
tao+1oa+ 300 tyoot r%o
=153G0Orn .

(2m)

A bacterial culture doubles its volume every half an hour.
At 8 pm the confainer is full. When was the container half full ? {1m)

72;0?.:‘:\ ':.J_, )
R,

If a drink and a sandwich together cost $5, and the sandwich cost 60 cents more
than the drink, how much does the drink cost ?

foagn — e~ /
e A T e v
%3 -Fo g

(2m}

ection & Centinued

Section ¥ Confinued
numbers is 138. (2m)

5. Find the numbers, when fhe sam of four consecutive
x, 7, x+3 273

7R, 34, 35, ?6/ hﬁ’b?
g & 38

Az ¢ 132

x 7 73

6. An obstacle course requires Danny 1o crawl fhrough one of four tunnels,
climb one of {hree tadders to get over a wall and climb through one &f two haoops.

How many different paths can Danny choose fo complete the o

U T oarel . | Loglis - | hoop

2Lodd 7’,;.
=B

T 6 xy
= g pokhs. /

ﬁsﬁﬂs""’h@

END OF SECTIONE,

END_OF ASSESSMENT TASK

bstacle course 7 (2m)

"

H




